
ΑΝΙ΢Ω΢ΔΙ΢ 2
ου

 ΒΑΘΜΟΤ – ΠΑΡΑΓΔΙΓΜΑΣΑ  

1. (α) Να λυθεί η ανίσωση:            

    (β) Να λυθούν οι ανισώσεις: (i)            

                                                    (ii)            

                                                    (iii)            
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(α)            

         (  )                 

                                                               
   

 
 

 

 
   

     
   √ 

  
 

 (  ) √ 

   
 

   

 
   

                                                                
   

 
 

 

 
 

 

 
 

Άρα: 

x 
                            

 

 
                                                                   

         
      

                                      

                                                                         

 

Επομένως:              (   
 

 
)  (    ) 

 

(β) (i)              (   
 

 
]       ) 

       (ii)              ( 
 

 
   ) 

       (iii)                
 

 
           

 

 

 

 

 



2. (α) Να λυθεί η ανίσωση:            

    (β) Να λυθούν οι ανισώσεις: (i)            

                                                    (ii)            

                                                    (iii)            

     ΛΤ΢Η 
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Επομένως:              (    ) 
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3. (α) Να λυθεί η ανίσωση:              

    (β) Να λυθούν οι ανισώσεις: (i)              

                                                    (ii)              

                                                    (iii)              

     ΛΤ΢Η 

(α)               
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Επομένως:                (     )  (     ) 

 

(β) (i)                  

       (ii)                          
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4. (α) Να λυθεί η ανίσωση:              

    (β) Να λυθούν οι ανισώσεις: (i)              

                                                    (ii)              

                                                    (iii)              

     ΛΤ΢Η 

(α)                         
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5. (α) Να λυθεί η ανίσωση:             

    (β) Να λυθούν οι ανισώσεις: (i)             

                                                    (ii)             

                                                    (iii)             

 

ΛΤ΢Η 

(α)                        

                               

Δεν έχει πραγματικές ρίδες. 

Άρα: 
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6. (α) Να λυθεί η ανίσωση:            

    (β) Να λυθούν οι ανισώσεις: (i)            

                                                    (ii)            

                                                    (iii)            

 

ΛΤ΢Η 

(α)                       

              (  )  (  )              

Δεν έχει πραγματικές ρίδες. 
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Επομένως:                          
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       (ii)                 
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